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Common Core

Mdth

Worksheets

(For All Standdrds)

Pdirs with Interdctive Mdth Notebooks
from Credie*TedcheShdre

Cdn be used 1o follow up or reinforce Interdctive Math Notebook
lessons. Cdn dlso be used for homework, review, or dssessment.




Worksheet Titles & Stdnddrds

Multiplication Equdtions ds Compdrisons (4.0A.1)
Word Problems with Multiplicative Compdrison (4.0A.2)
Multi-8tep Word Problems (4.0A 3)

Multiples & Fdctors (4.0A.4)

Prime & Composite Number (4.0A 4)

Patterns (4.0A.5)

Place Vdlue (4.NBT.1)

Numerdls, Word Form, and Expdnded Form (4.NBT.2)
Compdring Numbers (4.NBT.2)

Rounding Numbers (4.NBT'.3)

Addition & Subtrdction (4.NBT .4)

Multiplication - By 1 Digit (4.NBT'.5)

Multiplication - By 2 Digits (4.NBT 5)

Division (4.NBT 6)

Equivalent Frdactions (4.NF.1)

Compdring Frdctions (4.NF.2)

Decomposing Frdctions (4.NF.3)

Adding & Subirdcting Frdctions (4.NF.3)

Adding & Subirdcting Mixed Numbers (4.NF.3)
Word Problems: Adding & Subtrdcting Frdctions (4.NF.3)
Multiplying Frdctions by Whole Numbers (4.NF.4)
Word Problems: Multiplying Frdctions by Whole Numbers (4.NF.4)
Frdctions with Denomindtors of 10 & 100 (4.NF .5)
Relating Frdctions & Decimdls (4.NF .6)

Compdring Decimdls (4.NF.7)

Reldtive Sizes of Medsurement (4.MD.1)
Medsurement Conversions (4.MD.1)

Word Problems: Medsurement (4.MD.2)

Word Problems: Ared & Perimeter (4.MD.3)

Line Plots (4.MD.4)

Understdnding Angles (4.MD.5)

Medsuring & Sketching Angles (4.MD.6)

Unknown Angles (4.MD.7)

Points, Lines, Line Segments & Rdys (4.G.1)

Angles (4.G.1)

Perpendiculdr & Pdradllel Lines (4.G.1)

Quaddrilaterdls & Tridngles (4.G.2)

Lines of Symmetry (4.G.3)




Ndme: Ddte: [ 4 OA.1 ]

Multiplication Equadtions
ds Compdrisons

1. 54 is 6 fimes ds mdny ds 9.

2. 5 groups of 8 is equdl to 40.

3. 6 groups of 7 items is the sdme ds 42 items.

4. The product of 9 dnd 4 is 36.

5. 5 multiplied by 9 is 45.

6. 3518 5 fimes ds mdny ds 7.

7. 6 groups of 4 is equdl fo 24.

8. 4 groups of 8 items is the sdme ds 32 items.

9. The product of 10 dnd 12 is 120.

10. 7 multiplied by 7 is equdl to 49.




Answer Key Date: [ 4 .0OA1 ]

Ndme

Multiplication Equadtions
ds Compdrisons

1. 5% is 6 times ds mdny ds 4. 54 =6x1

2. 5 groups of 8 is equdl to 40. 5% 8=40

3. 6 groups of 7 items is the sdme ds 42 items. 86X 7 =142

4. The product of 9 dnd 4 is 36. 1%X 4 =36

5. 5 multiplied by 9 is 45. 55X 4=45

6. 35 is 5 times ds mdny ds 7. 30 =5X7

7. 6 groups of 4 is equdl to 24. 6x4=24

8. 4 groups of 8 items is the sdme ds 32 items. 4% 8 =32

d. The product of 10 and 12 is 120. 10X 12 =120
7x7=49

10. 7 multiplied by 7 is equdl to 49.




Ndme: Ddte: [ 4 QA 2 ]

Word Problems with
Multiplicative Compdrison

Directions: For edch word problem, write dh equdtion and/or
drdw d picture or model. Then solve.

1. Ricky mdde 5 bdskets in ldst week’s bdsketbdll gdme. This week he
mdde fwice ds mdny. How mdny bdskets did Ricky mdke this week?

2. In this week’s soccer gdme, Julie pldyed 3 times the humber of
mihutes she pldyed in ldst week’s gdme. If she pldyed 18 mihuies
this week, how mdny minutes did she pldy ldst week?

3. Intoday’s bdsketbdll gdmse, Elld mdde 4 times the number of bdskets
that Kay made. If Elld mdde 12 bdskets, how mdny did Kdy mdke?



Answer Key Date: [ 4 OA 2. ]

Word Problems with
Multiplicative Compdrison

Ndme

Directions: For edch word problem, write dh equdtion dnd/or
drdw d picture or model. Then solve.

1. Ricky mdde 5 bdskets in ldst week’s bdsketbdll gdme. This week he
mdde fwice ds mdny. How mdny bdskets did Ricky mdke this week?

5X2=7
10 bdskets

2. In this week’s soccer gdme, Julie pldyed 3 times the humber of
mihutes she pldyed in ldst week’s gdme. If she pldyed 18 mihuies
this week, how mdny minutes did she pldy ldst week?

7x3=18
6 mihutes

3. Intoday’s bdsketbdll gdmse, Elld mdde 4 times the number of bdskets
that Kay made. If Elld mdde 12 bdskets, how mdny did Kdy mdke?

7% 4 =12
3 bdskets



Ndme: Ddte: [ 4 OA 3 ]

Mulii-Step
Word Problems

Directions: For edch word problem, identify which operadtions fo use,
write dn equdtion, dnd/or draw d picture or model. Then solve.

1. Kiley mdde 5 irdys of cupcdkes for the bdke sdle. Edch iray hdd 6
vdnilla cupcdkes dnd 8 chocoldte cupcdkes. How mdny totdl cupcdkes
did Riley mdke for the bdke sdle?

2. Crdig’s godl wds to redd 40 books during the school yedr. He redds
14 before winter bredk dnd 11 before spring bredk. How mdny will he
need o redd dfter spring bredk, in order to meset his godl?

3. On Monddy, Lisd played hdndbdll for 22 minutes. On Tuesddy, she
played twice ds long. How much time did Lisd spend pldying hdndbdll
dlfogether on Monddy dnd Tuesddy?



Ndme

Mulii-Step
Word Problems

Directions: For edch word problem, identify which operadtions fo use,
write dn equdtion, dnd/or draw d picture or model. Then solve.

1. Kiley mdde 5 irdys of cupcdkes for the bdke sdle. Edch iray hdd 6
vdnilla cupcdkes dnd 8 chocoldte cupcdkes. How mdny totdl cupcdkes
did Riley mdke for the bdke sdle?

(6 + 8) X5=72
70 cupcdkes
2. Crdig’s godl wds to redd 40 books during the school yedr. He redds

14 before winter bredk dnd 11 before spring bredk. How mdny will he
need o redd dfter spring bredk, in order to meset his godl?

40 - (14 + 11) = 2
15 books

3. On Monddy, Lisd played hdndbdll for 22 minutes. On Tuesddy, she
played twice ds long. How much time did Lisd spend pldying hdndbdll
dlfogether on Monddy dnd Tuesddy?

(22X 2)+ 22 =7

66 mihutes

Answer Key Date: [ 4 OA 3 ]



4
10

16
: 48
50




Answer Key

Ndme Ddte: [ 4 .0A 4 ]

Multiples & Fdctiors

3 3,64, 12, 15,18, 21, 24

O[ q 18,27, 36, 45 54, 63 72.

10 10, 20, 30, 40, 50, 60, 70, 80

16 1,2,4 8 16

48 1,2,3 4,6, 8, 12, 16, 24, 48

5 O 1,2, 5,10, 25, 50




prime or composite. Theh expldin how you knhow.

5 prime composiie
Expldin:

27  prime composite
Expldin:

372.  prime composite
Expldin:

71 prime composiie
Expldih




Answer Key

Ndme Date: [ 4 OA 4 ]

Prime & Composite Numbers

Directions: For edch of the following, tell whethet the number is
prime or composite. Theh expldin how you knhow.

?) @ composiie

Explain: 2 only hds two fdciors: 1 dnd 5

27  prime

2.7 hds more thdn 2 fdctors: 1,3, 4, 27

32 prime

Explain: 32 hds more thdn 2 fdciors: 1, 2, 4, 8, 16, 32

71 @ composite

Explain: /L only hds two fdciors: 1 dand 71

—

Expldin:




Ndme: Ddte: [ 4 0A5 ]

Patterns

eXpldin whdt you notice dbout the pdttern.

Start with 1 and multiply by 4.

Whadt do you notice?

Stdrt with 3 dnd dadd 2.

Whdt do you notice?

Directions: Finish the pdttern. Then expldin whdt you notice about
the padttern.

o 83 855

Whadt do you notice?




Name: - Tswer Key Date: [ 4 OA5 ]

Patterns

Directions: Credte d pdttern bdsed on the rule thdt is given. Then
eXpldih Whdt you notice dbout the pdttern.

Start with 1 dand multiply by 4.

1, 4, 16, 64, 256, 1,024

After 1, dll even numbers dnd digit in the
What do you notice? _Ohes pldce dlierndies between 4 dnd 6

Stdrt with 3 and add 2.
3,579, 11 13, 15...

What do you notice? All odd numbers

Directions: Finish the pdttern. Then expldin whdt you notice about
the pattern.

o 83 855

The bdse dnd the sides dre incredsing my 1.
What do you notice? _Ihe number of circles in base dre squdred.




. Ndme: Dadte: [4‘NBT1 ] .

different vdlues.

: What is the vdlue of 5 in the following humbers?

34,562 125,348

Vadlue:

Compdre the vdlue of the 5 in these two humbers:

. What is the value of 3 in the following numbers?

12532 683

+ Vdlue:

Compdre the vdlue of the 3 in these two numbers:




Ddte: [ 4 NBT.1 ]
Place Vdlue

~ Answer Key
me:

different vdlues.

Whadt is the vdlue of S in the following humbers?
34562 125,348

Value: 500 5,000

Compdre the vdlue of the 5 in these two humbers:
The vdlue of the 5 in 125,348 is 10 times the vdlue of the 5 in 34,562.

. What is the value of 3 in the following numbers?

12532 683

Vdlue: 30 3

Compdre the vdlue of the 3 in these two numbers:

The vdlue of the 3 in 12,532 is 10 times the vdlue of the 3 in 683.




Numerdls, Word Form,
dnd Expdnded Form

3,789

Word Form:

Expdhded Form:

20,605

Word Form:

Expdnded Form:

109,230

Word Form:

Expdnhded Form:




Name: _nsWer Key Date: [4“.NBT 2. ]

Numerdls, Word Form,
dnd Expdnded Form

3,789

Word Form: | Aree thousdnd eighty-nine

3,000+700+80+49

Expanded Form:

20,605

Word Form: Twenty thousdnd, six hundred five

Expdnded Form: 20,000 + 600 + 5

109,230

Word Form: 06 hundred nine thousdnd, two hundred thirty

Expanded Form: 200,000 + 4,000 + 2.00 + 30




g71d 7814 324971 39217
: 125,784 ___ 125,874 5488 4588

36,782 _____ 37,762 374,974 ___ 374794

: 671922 ___ 617,922 4871 4781
5578 5587 344 988 3444498
23780 27.380 51332 51322

: 214,680 ___ 214,680 1,684 ___ 1869



. [D.imc:.ti.ong Use <, >, or = fo. ]

8719 = 7,819 32,971 _= 39217
: 125789 _<_ 125,874 5488 > 4588

36,782 _~_ 37,762 374,974 _Z_ 374794

: 671,922 > _ 617,922 4871 > 4781
5578 < 5587 344 988 < 344998
23780 < 2.7.380 51332 ~ 51322

: 214,680 _=_ 214,680 1,684 _<_ 1869



Round to the nedrest hundred.

: 23741

4,921

Round to the nedrest thousdnd.
123,689

} 93442

: Round o the nedrest ten thousand.

P 41,867

: 234,901



. Round to the hedrest hundred.
P 23741 28500

4,921 490

Round 1o the nedrest thousdnd.
123689 124,000

: 23492 2300

Round 1o the nedrest ten thousdnd.
41,867 _40000

P 939,901 240000



. Ndme: Dadte: [4‘NBT4‘] .
: Addition & Subtrdction :

[Djmgﬂgn_g_: Find the sum or o[ifference.]

32,7849 645,890
+ 21632 + 238,746
41,566 533,591
+ 33,652 - 272408
43,783 540,987

- 68,135 - 348,781




Date: (4NBT 4] :
Addition & Subtrdction :

~ Answer Key
me:

[Djmgﬂgn_g_: Find the sum or o[ifference.]

32,7819 645,890
+ 21,632 + 238,746
54 421 884 836
41,566 533,591
+ 33,652 - 272.408
75,218 261,183
43,783 540,987
- 68,135 - 348781

25,648 192,206



. Ndme: Dadte: [4‘NBT5] .

: 29 625 3 829,
: X 3 X 6 X 4
54 819 5877




me: Abswer Ke}/ Dadte: [ 4NBT5 ] .§

: 24 625 3,822
P X 3 X 6 X 4
: 267 3,750 15,288
: 54 819 9,677
X7 X 8 X 6

378 6,002 34,062



. Ndme: Dadte: [ 4.NBT 5 ] .

;92 56 78
P X 43 x 34 X 41
83 46 45

: x_37 % 2.8 % 19




Dadte: [ 4 NBTS5 ]

: q2. 56 783
X 43 X 34 X 41
: 3,956 1,904 3,198
: 23 43 45
: X 837 X 2.8 X 19
3,071 1,2.88 855



. Ndme: Dadte: [ 4.NBT 5 ] .

[Djmgﬂgn_g_: Use the sirdtegy of your choice to find the q,uo’fjent.]

. d[784 6[542 5[%.293

. 8[453 5[732 45,615



g Answer Key Date: [ 4 NBTS5 ]
Division

87 16 940 r2 858 r 3:
q|789 6542 54,293
5615 146 r.2 1.403r.3

2453 5(732 45615



. Ndme: Dadte: [ 4.NF.1 ] .

e 1 2
3= __ Y- __ 57 __
6T 8. 8 __
3 8_ N
: 10 O 12



me: Answer Key Date: [ 4 .NF.1 ]
Equivdlent Frdctions

1 1_2 2_4
: 3 6 4~ 8 5 I



. Ndme: Dadte: [ 4.NF.2 ] .




. Ndme: Answer Key Dadte: [ 4.NF.2 ] .

Compdring Frdctions




. Ndme: Dadte: [ 4.NF3 ] .

4
P

oo|un




me: Answer Key Date: [ 4.NF 3 ].

Answers mdy vdry.

L, 3 2 2
5 75 5 75




. Ndme: Dadte: [ 4.NF.3 ].
Adding & Subtrdcting Frdctions  :

. [Direcﬁons: Find the sum or differencs. ]




; Dadte: [ 4‘NF3 ] .§
Adding & Subtrdcting Frdctions  :

[Djmgﬂgn_g_: Find the sum or difference. ]




. Ndme: Dadte: [ 4.NF3 ].

Adding & Subtrdcting
Mixed Numbers




Date: [ 4 .NF 3 ]

Adding & Subtrdcting
Mixed Numbers




Ndme: Ddte: [ 4 NF .3 ]

Word Problems: Adding
and Subirdeting Frdctions

Directions: For edch word problem, write dn equdtioh dnd/or
drdw d picture or model. Then solve.

1. Ddisy hds redd § of the books in her classroom’s library. If she
redds dnother liof the books in the first month of school, what
frdction of books will she hdve redd?

2. Jdckson brought cookies to school to shdre with his friends. By
recess time, % of the cookies were left. After recess, another'g of
the cookies Were edien. Whdt frdction of cookies did they hdve left
to enjoy dfter lunch?

3. Before lunch Luke put together & of d puzzle. After lunch he put
together dnother § of the puzzle. How much of the puzzle hds he
completed?



Answer Key Dte: [ 4 NF .3 ]

Word Problems: Adding
dand Subirdcting Frdctions

Ndme:

Directions: For edch word problem, write dn equdtioh dnd/or
drdw d picture or model. Then solve.

1. Ddisy hds redd § of the books in her classroom’s library. If she
redds dnother liof the books in the first month of school, what
frdction of books will she hdve redd?

2
8 of the books

2. Jdckson brought cookies to school to shdre with his friends. By
recess time, % of the cookies were left. After recess, omother'g of
the cookies Were edien. Whdt frdction of cookies did they hdve left
to enjoy dfter lunch?

2
5 of the cookies

3. Before lunch Luke put together & of d puzzle. After lunch he put
together dnother § of the puzzle. How much of the puzzle hds he
completed?

WA
10 of the puzzle



Ndme: Date:

Multiplying Frdctions
by Whole Numbers

Bk 2ede
Yuke 2mbe



e Answer Key Date: [ 4 NF 4 ]

Multiplying Frdctions
by Whole Numbers

3_ 2x%7 %
Yxk-i  2xioi



Ndme: Ddte: [ 4 NF 4 ]

Word Problems: Multiplying
Frdctions dnd Whole Numbers

Directions: For edch word problem, write dn equdtioh dnd/or
drdw d picture or model. Then solve.

1. There dre 10 pldyers on Kyle's soccer tedm. # of pldyer on his
tedm dre girls. How mdnhy pldyers dre girls?

2. Riley dand her brother ordered d pizzd with 8 slices. If they die T of
the pizzd before going to play, how mdny slices did they edt?

3. Kristy is making cupcdkes for her 6 friends. If % of her friends
wdnt chocoldte. How mdnhy chocoldte cupcdkes will she mdake?

4. Ten students in Mr. Burke’s cldss signed up o order lunch. 5 of
those students wdnted hot [unch. How mdny students ordered hot
[unch?



Ndme

Word Problems: Multiplying
Frdctions dnd Whole Numbers

Directions: For edch word problem, write dn equdtioh dnd/or
drdw d picture or model. Then solve.

1. There dre 10 pldyers on Kyle's soccer tedm. # of pldyer on his
tedm dre girls. How mdnhy pldyers dre girls?

4 of the pldyers dre girls.

2. Riley dand her brother ordered d pizzd with 8 slices. If they die T of
the pizzd before going to play, how mdny slices did they edt?
They die 2 slices.

3. Kristy is making cupcdkes for her 6 friends. If % of her friends
wdnt chocoldte. How mdnhy chocoldte cupcdkes will she mdake?

4 chocoldte cupcdkes

4. Ten students in Mr. Burke’s cldss signed up o order lunch. 5 of
those students wdnted hot lunch. How mdny students ordered hot
[unch?

2. ordered hot lunch.

Answer Key Date: [ 4 NF 4 ]



. Ndme: Dadte: [ 4.NF5 ] .

Frdctions with
Denomindtors of 10 & 100

—-— e o - . o . O - o O o e e e e )

—-— e o o o - . O - o S e e e e e )

— e o o e o o e e e e e e o o= e

—-— e o o o - . O - o S e e e e e )



. Ndme: Answer Key Dadte: [ 4.NF.5 ] .

Frdctions with
Denomindtors of 10 & 100

3 30 [n_/80 4 30 _ 60"
10 100 v 2100 100 100, :

—-— e o - . o . O - o O o e e e e )

5 .ﬂ 1115—O+ﬂ - &\‘\
10 T100p 100 100 T 100/

—-— e o o o - . O - o S e e e e e )

6 20 I~_/B0 4 20 _ 80" :

— e o o e o o e e e e e e o o= e

—-— e o o o - . O - o S e e e e e )



Ndme:

Date:

| 4NF6 ].

Relating Frdctions dnd Decimdls

[Djr_@gﬁ_ong_: Write edch of the following ds d frdction dnd ds d decimadl. ]

(

Frdction:

Decimadl:

(

Frdction:

Decimadl:

J

-

Frdction:

Decimdl:

-

Frdction:

Decimadl:




Dadte: [ 4.NF.6 ]
Relating Frdctions dnd Decimdls

o Answer Key

[pjr_@gnong_: Write edch of the following ds d frdction dnd ds d decimadl. ]

4 7 ) 4 4yg )
Frdction: __10_ Frdetion: _100
. Decimadl 0.7 - Decnmdl _Q_i‘_g_
. 4 3 ) 4 9 )
Fraction: __10 Fraction: _100
Declmdl _Q_§__ DeGImdl _Q_6_ﬂ‘_




Compdring Decimdls

E [Djr_e_;_qﬁ_ong: Use <,>,0r =10 compdre.]

0.4 0.35 006 ___ 06

0.24 0.42 0.21 0.12

03 ___ 033 01___011
0.8 ___ 0.80 079 ___ 0.8
009 ___049 056 ___06
0.27 0.72 0.05 0.5




. Ndme: Answer Key Dadte: [ 4.NF.7 ] .

Compdring Decimdls

E [Djr_e_;gﬁ_ong: Use <,>,0r =10 compdre.]

04 _=_035 006=__06

024 _=_042 021 =z _0.12

03_=_033 01_=_0.11

0.8 _= 0.80 079 < 08

009 _=_04 055 _=_06

027 _=_072 005 _<=_05




Ndme: Ddte: [ 4 MD.1 ]

Reldtive Sizes of Medsurement

Directions: Use the word bdnk below 1o help decide which unit of
medsure would be used in edch situdtion.

—

minutes hours grams kilogrdms

liters milliliters centimeters kilometers

1. The dmount of time it dkes to brush your teeth.

2.. The amount of sodd in d cdn.

3. The length of d piece of pdper.

4. The dmount of time it tdkes 1o wdich d movie.

5. The weight of dn dpple.

6. The dmount of wdter in d bdathtub.

7. The distdnce 1o the grocery stors.

8. The weight of d pony.




Ndme Answer Key

Reldtive Sizes of Medsurement

Directions: Use the word bdnk below 1o help decide which unit of
medsure would be used in edch situdtion.

—

minutes hours grams kilogrdms

liters milliliters centimeters kilometers

1. ‘The dmount of time it takes to brush your teeth. mihuies
2. 'The dmount of sodd in d can. milliliters
3. The length of d piece of pdper. ceniimeiers
4. The amount of time it takes to watch a movie. hours

5. The weight of dn dpple. grams

6. The amount of water in d bathtub. liters

7. The distdnce to the grocery stors. kilometers
8. The weight of d pony. kilogrdams

Dafe: [ 4MD.1]



Ndme:

Date:

[4MD.1 ].

Medsurement Conversions

1cup

8 fl. ounces

3

36

11

1 pound

16 ounces

12 inches

1 minute

60 seconds

120

1 liter

1,000 milliliters

2

4,000

6

1 kilogram

1,000 grdms

3

5,000

7

1 meter

100 centimeters

5

8

10

1 hour

60 minutes

360




Ndme

Answer Key

Date:

[4MD.1 ].

Medsurement Conversions

1cup g fl. ounces
3 24
9 36
11 44
1 pound 16 ounces
3 48
4 64
5 80
1 foot 12 inches
3 36
6 72
9 108
1 minute | 60 seconds
2 120
4 240
5 300

1 liter 1,000 milliliters
2 2,000
4 4,000
8 8,000
1 kilogram | 1,000 grdms
3 3,000
5 5,000
7 7,000
1 meter 100 centimeters
5 500
g 800
10 1,000
1 hour 60 mihutes
2 120
6 360
8 430




Ndme: Dadte: [ 4‘MDZ ]
Word Problems: Medsurement

drdaw d picture or model. Then solve.

1. Brdndon is driving to visit d friend thdt lives 29.2 miles awdy. If he
stops 10 get gds dfter 18.4 miles, how mdny miles will he have left to go?

2. Natdlie hds 2 hours o run her errdnds. She spends 45 mihutes dt
the grocery store dnd 30 mihutes getting her cdr wdshed. How
much time does she hdve left {0 get lunch?

3. Bill’s bdasebdll bdg weighs 4 pounds. If he tdkes out d pdir of cledts
that weigh 6 ounces, how much will his bdg weigh?

4. Kimberly is mdking sirawberry lemondde for her cldss. She mixes
2.% liters of lemonhdde dnd 1% liters of strawberry juice. How many
liters or strawbertry lemondde will Kimberly hdave?



Name Answer Key Date: [ 4. MDZ]

Word Problems: Medsurement

drdaw d picture or model. Then solve.

1. Brdndon is driving to visit d friend thdt lives 29.2 miles awdy. If he
stops 10 get gds dfter 18.4 miles, how mdny miles will he have left to go?

10.8 miles

2. Natdlie hds 2 hours o run her errdnds. She spends 45 mihutes dt
the grocery store dnd 30 mihutes getting her cdr wdshed. How
much time does she hdve left {0 get lunch?

45 minhutes

3. Bill’s bdasebdll bdg weighs 4 pounds. If he tdkes out d pdir of cledts
that weigh 6 ounces, how much will his bdg weigh?

58 ounces or
3 pounds, 10 ounces

4. Kimberly is mdking sirawberry lemondde for her cldss. She mixes
2.% liters of lemonhdde dnd 1% liters of strawberry juice. How many
liters or strawbertry lemondde will Kimberly hdave?

4 liters



Bella needs to buy d custom frdame for E The dred of Cdleb’s gdrden is 120 squdre
her drtwork. The length of the picture o feet. If the length of his gdrden is 10 feet, ¢
she pdinted is 12 inches dnd the width ¢ Whdt is the width of his gdarden? .
is 4 inches. How madny squdre inches .
of glass will she need? . .
: Picture: °

Picture: . .
Eq,uation: *  Equation: E
Solution: . Solution: :
.............................;................................ E
Julid is putting up d fence dround her « Steven bought d new rug for his bedroom. ¢
gdrden. How much fencing will she « ‘The perimeter of the rug is 30 feet and .
heed if the length of the fence is 8 feet o the length is 8 feet. What is the width of .
dnd the width is 12 fes? . his new rug? .
Picture: E Picture: .
Eq,uation: E Eq,uation: .
Solution: « Solution: e

Ndme: Dadte: [ 4 MD3 ]
Word Problems: Ared & Perimeter

Directions: For edch word problem, write dh equdtion dnd draw d
picture to solve.




Name: Answer Key Dadte: [ 4 MD3 ]
Word Problems: Ared & Perimeter

Directions: For edch word problem, write dh equdtion dnd draw d
picture to solve.

Bella needs to buy d custom frdame for E The dred of Cdleb’s gdrden is 120 squdre

her driwork. The length of the piciure e feetl. If the length of his gdrden is 10 feet,

she pdinted is 12 inches dnd the width ¢ Whdt is the width of his gdarden?

is 4 inches. How madny squdre inches

of glass will she need? .

* Picture:

PiC’[UI'e: :

Equation: 12x9=A + Equation: W X 10 = 120

Solution: __108 squdre inches _ +  Solution: 12. feet
.............................;................................

Julid is putting up d fence dround her « Steven bought d new rug for his bedroom.

gdrden. How much fencing will she « The perimeter of the rug is 30 feet and

need if the length of the fence is 8 feet ¢ the length is 8 feet. What is the width of

dnd the width is 12 fes? . his new rug?

Picture: * Picture:

Equation: __(8 + 12)x2=P E Equation: 8+ 8+ 2wW =30

Solution: 40 feet « Solution: 7 inches



Ndme:

Date:

Line Plots

[4*.MD.4*].

The students in Mrs. Vogel's cldss medsured the lengths of their
hdnds 1o the nedrest % inch. Use the 1dlly chdrt 1o complete the line plot.
Then dhswer the questions that follow.

Length of Hands Number of Students
4 I
4% HH
S HH |
S 1

&

|
4

4%

|
5

Lengths of Students’ Hands ih Inches

I
S

/

Whadt is the difference in the length of the longest hdnds dnd the

shortest?

Mikey’s hdnd is 4% inches long. How much shorter is his hand thdn the

students with the longest hands?



Ndme

Answer Key

Date:

Line Plots

[4.MD.4*].

The students in Mrs. Vogel's cldss medsured the lengths of their

hdnds 1o the nedrest % inch. Use the 1dlly chdrt 1o complete the line plot.

Then dhswer the questions that follow.

Length of Hands Number of Students
4 1111
4% HH
5 HH |
5h [

N\

g % X
X X X X
H 2 5 5

Lengths of Students’ Hands ih Inches

Whadt is the difference in the length of the longest hdnds dnd the

shortest?

Mikey’s hdnd is 4% inches long. How much shorter is his hand thdn the

1% inches

students with the longest hands?

1 inch



Ndme: Date: [4' MD.5 ] .
Understdnding Angles :

[I_)_J_r:_eggnc_b_r_l_s__ Find the medsure of edch dngle. ] .
n \u m’ “““““ \ m 1 :

\\ \ 80 90’ 100/ 125 / /// \\\1\3 80\ 90 loo/ 20 / // :

\\\ ® "v‘o 2 D \\\0 & Jeo /. .
\\ Y, eVO/j///. \\g 2 70//, °
% oS 5N o) .
//// Q\ 1 Q’Q’L \:\\\ // € 00€ g’(, i \\\ , :
/62 08z 0rz 09T \g \\\ , n / %2 0gz 01z 092 \\\ °
> i :

Angle Medsure: ____ Angle Medsure: ____ .

[ ]

‘‘‘‘‘‘‘‘‘‘ Wil "u}-uu,‘ """"\'“‘ H‘f.“““‘:‘ 1117 :

\\ \ 0\ 90‘ 100/ 120 / // \\\ \ \g() 90’ 100/ Iﬁ / /// °

o QA &, 7y, .

\\ ¢ Q N .

\\ ® e / 2 S8 ° o °

k2 / \ Q 4 / [
\ G~ SV S~ o
/// @ 2 & \\\ //<*; P\ / in \\\ .
/// <o it \ -3,;; & o o9 °
// < %2 08z o1z 09 o A W // %z o 09¢ \\ Y

" . 8z 0L2 A °
/T‘g/v‘s‘"“/“;"‘“"/"“"“/\\\ ‘.n\w\\\\ /// fm" i \ """" \ :

[ ]

Angle Medsure: ___ _ Angle Medsure: ___ _ s



A

Answer Key

Ndme Ddte: [4‘ MD 5 ]

Understanding Angles

W \" ’ “\f / “““““ - m 11111
\\ ol 90 100 O "
\ 8 119 / /// j*t\;\‘\\\:l\‘\\‘l\é g0 90 loo/ 120 / //

\\\ o J"‘o/ // \\\ < {9 /
\\ 2 S )

S k) N ‘s / )

SN o SN ® °. %
= ° S S~
=_ = 7 —
= N = R o=

= =" L=
= = —
= = S o"‘i
€= “— 8 =
e = —
//% =z, &S
2% N 2 o &S
/ o N 7 o Q7 X
0 N 7 e 1
7, € NN 72, /% N
/ ) Q’ﬂﬂ‘ NN 77 [{‘ N
& / - %z og ooz O \\ // /00'5‘ oGt VL\\
gyl Ly e 2% 2 >
™" i

Angle Medsure: 55__ Angle Medsure: 135~

W w7 <\

\\ ® b5 7
: Q (4 W,
0/ 2 \\;\\\ © 5 7y,
o, A 0 o’ 77,
NG N © &,
o7 N o NG
o R Z
< £y o<
- = N =
3= = 2=
— O o—
e —_—~ =
o — = C—
°o——= L S ® =
~ _i EA i © =
8= = . 5 =
N = = 0 C—=
& = = ™ No=
S_= Z o S =
4N 2 S
S "~ o &S
&N A N
1’0 \\\ /;/ 17) (\':l’ \
NN ‘f:’/:/ ’}* NN
N & oY \

\QQ

H
// 2
2
X
\

%2 08z 01z 09 V
SRR

Angle Medsure: 125" Angle Medsure: _65_




Ndmse: Ddte: [4‘ MD o ]
Measuring & Ske’rchmg Angles

/ A

Medsure: _ Medsure: Medsure:

v

Directions: Use d protrdctor to sketch dn dngle for edch
medsure given.

—

Medsure: 55 © Medsure: 130 °




Ndme: Answer Key Date: [4‘ MD.6 ]

Measuring & Ske’rchmg Angles

/ A

110° Medsure: 80"

v

Medsure Medsure:

Directions: Use d protrdctor to sketch dn dngle for edch
medsure given.

—

Medsure: 55 © Medsure: 130 °

v




Ndme: Ddte: [4‘MD7 ]

Unknown Angles

¢ N\
[ \
| |
| I
I A :
: If <ABC = 145°, I

) o I
! whadt is the medsure 75 !
I of <ABD? I
I >
1 o C 1
N e e A

ST T T ~ e ~a

If <JKL = 70°,
Whadt is the medsure
of <MKL?

If <EFG = 80°,
Whdt is the medsure
of <EFH?

o

.y
SN N N
-

N 4

. oo TErrmmEE e e mmmmmmmmmmm—_————e—e \\
I 1
i A% !
Iy If <NOP = 130°, |
: 40° whdt is the medsure !
I of <QOP? |
: 2° I

I
I 0 !
' - I
l > !
M c E __________ . /



Ndme Answer Key

Unknown Angles

,I -------------------------------------- ~
[ \
1 1
] I
I A :
! If <ABC = 145°, !
! whdt is the medsure 75° !
I of <ABD? I
I >!
1 70 o C 1
\ _ |
N _/
e ~ e ~n

If <JKL = 70°,
Whadt is the medsure
of <MKL?

25 o

If <EFG = 80°,
Whdt is the medsure
of <EFH?

40 .

.y
SN N N
-

> >
F G K L
\s __________________________ o’ \\ ________________________ R4
'I’ --------------------------------- \\
| 49 :
Iy If <NOP = 130°, !
: 40° whdt is the medsure :
I of <QOP? I
! Q° :
: ' q0 . |
l P ——
! > i
M c E __________ _

Date: [4‘MD7 ]



E.Ndme: Ddte: [ 4G.1 ]

°
o (

°
e \L

D A B
o o— r—>
\Y% W J K
<@ *—> — —o
Directions: Draw dnd ldbsl edch of the followmg.}
Point Z Line GH

Line Segment CD Ray XY




[ ]
o [

.
e \\

D A B
o o— *—>
Point D Ray AB
\Y% W J K
<@ *—> — —o
Line VW Line Segment JK
Directions: Draw dnd label edch of the followmg.]
Point Z Line GH
Z H
O <o >
Line Segment CD Ray XY
C D
® @ X Y
® —@




Ndme:

Date:

Angles

| 46.1 ].

A

Angle Type:

Angle Type:

>

Angle Type:

~

J

Acute Angle:

Right Angle:

Obtuse Angle:




Ndme Answer Key

Date:

Angles

| 46.1 ].

A

Angle Type:
Right Angle

Angle Type:
Obtuse Angle

Angle Type:
Acute Angle

~N

J

Acute Angdle:

Right Angle:

Obtuse Angle:




Ndme: Ddte: [ 4G.1 ]
Perpendiculdr & Pdradllel Lines

Directions: Identify whether edch pdir of lines is pdradllel,
perpendiculdr, or neither.

A

A
\ 4

A
\

pdardllel or perpendiculdr.
-

Pdrdllel Lines: Perpendiculdr Lines:

— - >




: Answer Key Date [ 451 ]

Ndme

Perpendiculdr & Pdradllel Lines

Directions: Identify whether edch pdir of lines is pdradllel,
perpendiculdr, or neither.

A

A
\ 4

A
\

\ 4
Perpendiculdr Neither

Paradllel Neither

pdardllel or perpendiculdr.
-

Pdrdllel Lines: Perpendiculdr Lines:
A

% . .

\ 4




Ndme:

Date:

(462 )

Quaddrilaterdls & Tridngles

=

[\

Description:

Ndme: Ndme: Ndme:
Description: Description: Description:
Ndme: Ndme: Ndme:

Description:

Description:

A\

Ndme:

Description:

L]

Ndme:

Description:

D

Ndme:
Description:




Ndme Answer Key

Date:

(462 )

Quaddrilaterdls & Tridngles

=

Name: Isosceles

Description:
2 congruent sides

Ndme: Squdre

Description:
Congruent sides,

L\

Trdpezoid

Ndme:

Description:
1 set of pdrdllel sides

4 right dngles, 2 seis

of pdrdllel sides.

Name: Kectdngle

Description:
2 sets of pdrdllel sides

<

Ndme: Scdlehe

Description:
All lengths dre different

L/

Ndme: Rhombus

Description:
2 sets of pdrdllel sides,

4 right dngles

congruent sides

VAN

Name: Eduilateradl

Description:
All congruent sides

[

Paradllelogrdm

Ndme:

Description:
2 sets of pdradllel sides

BN

Ndme: Ejg ht

Description:
1 right dngle




Ndme:

Date:

| 463 ]

Lines of Symmeiry

0, draw dll the lines of symmelry for edch.

=

]

Line Symmetric?

Line Symmetric?

AN

Line Symmetric?

Line Symmetric?

Line Symmsetric?

@

Line Symmetric?

Line Symmetric?

/

Line Symmetric?

o

Line Symmetric?




Ndme Answer Key Date: [ 463 ]

Lines of Symmeiry

Directions: Decide whether edch shdpe is line-symmetric. If
80, draw dll lines of symmeiry.

—

dh
<
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